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Explanations and answers to select questions

Option (D) is the correct answer. Its singular and plural has the same spelling.

Option (C) is the correct answer. Its homohone is : Manna.

Option (B) is the correct answer. The correct spelling is : Inoculate.

Option (B) is the correct answer. It is ‘Flare’ : ‘Flame+Glare’.

Option (B) is the correct answer. The five additional/other words are : palest, pastel, petals, plates and pleats.
Option (C) is the correct answer. The syllables are : sug-ar-cane.

Option (A) is the correct answer. Here, the word ‘statistics’ is a plural noun which is ‘a collection of information
shown in numbers’ and not a ‘a field of study’, hence ‘are.

Option (D) is the correct answer. Because of the presence of ‘to’ after ‘justice’, option (B) ‘deal with’ can’t be
used. The phrasal verb ‘to deal something out’ means ‘to share something out among a group of people’ (here
equally).

Option (B) is the correct answer. The first syllables of the words ‘MBBS’ and ‘LLM’ produce vowel sounds as
in ‘@im’ and ‘ale’ respectively, so ‘an’. The first syllables of the words ‘european’ and ‘university’ produce a
consonant sound as in ‘you’, so ‘a’.

Option (C) is the correct answer. The pattern of 1st conditional ‘If+present simple (doesn’t), will+infinive (do)’,
is presented with the clauses inversely placed.

Option (D) is the correct answer. As the reporting verb is in the future tense (will say), there is no change of
tense in the reported speech.

Option (D) is the correct answer. It is not possible to have a passive voice construction in past perfect
continuous tense, which the sentence uses.

Option (A) is the correct answer. All others are present in the body, in pairs.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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